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Answers

1.    34,132   

2.    51,517   

3.   7,245.39  

4.     100     

5.     100     

6.     100     

7.    1,000    

8.   290.586   

9.    380.5    

10.      10     

11.   974,800   

12.   99,247.8  

13.    685.9    

14.    464.76   

15.   967.654   

16.    917.7    

17.    1,000    

18.    1,000    

19.   7,196.2   

20.     100     

Use decimal multiplication and division rules to fill in the blank.

1)    34,132   ÷100 = 341.32

2)    51,517   ÷100 = 515.17

3) 724.539×10 =   7,245.39  

4) 55.55×    100      = 5,555

5) 727.19×    100      = 72,719

6) 49,828.1÷    100      = 498.281

7) 298.3×   1,000     = 298,300

8) 29,058.6÷100 =   290.586   

9)    380.5    ×1,000 = 380,500

10) 6,705.6÷     10      = 670.56

11) 974.8×1,000 =   974,800   

12)   99,247.8  ÷100 = 992.478

13) 68,590÷100 =    685.9    

14) 4,647.6÷10 =    464.76   

15)   967.654   ×10 = 9,676.54

16)    917.7    ×10 = 9,177

17) 864,262÷   1,000     = 864.262

18) 876.4×   1,000     = 876,400

19)   7,196.2   ÷10 = 719.62

20) 31,764÷    100      = 317.64
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